1 THETHBIERANES- IFEER (B FEE)
A& L _# B_(A 08 %&mooké’n‘—b) 10K 2 1:Vivs
S 6 E| Al E [ HH tt |R6.11 B Eqﬁ F | (44THETA )
3 B Xk | R [EEE X1
X B B # 4762 531| 12.6 2,823,457 1687 | EGEGR
X B 0w 528 73| 16.0] 268,036 1.970 14
B I 142 12 9.2| 165,822 0.856 43
+ @ ® 311 57| 224 142,181 2.187 8
oA W 195 13 71| 137,512 1.418 27
F @M 137 24| 212 70,124 1.954 15
# W om 108 38| 543| 49,252 2.193 7
B oy B o™ 168 53| 46.1| 75,212 2.234 5
T £ 0h 45| 29| 392 41621 1.081 38
% # ™ 125 -1 0.8 59,329 2.107 10
% A B @ 67 32| 914]| 45550 1.471 26
& & m 33 -15[ -31.3[| 26,057 1.266 32
t % # & 47| -14| -230| 39,748 1.182 36
% MW 133 29| 279 71,298 1.865 17
R F W 113 33| -22.6| 103,717 1.090 37
£ KA # 141 31| 282 83,826 1.682 22
N 455 70| 18.2] 256,526 1.774 21
(O3 ==X % \iil 160 -10 -5.9| 154,097 1.038 41
BB 129 26| 252| 65,261 1.977 13
EEE 34 2 6.3 26,453 1.285 30
F oA W 87| -25| -223] 69,796 1.246 34
EEAEH 48 5] 116 37,194 1.291 29
I 56| -11| -16.4| 52,518 1.066 40
% @\ ™ 189 -10 5.0[ 98,031 1.928 16
L 95 -4 40| 51,006 1.863 18
W % W 88 4 48| 36,768 2.393 3
M HMS5DH 108 63| 140.0]| 39,147 2.759 2
T 73 -3 39| 36,638 1.992 12
WO m 175 23| 151 94,237 1.857 19
7 A ™ 55 19| 528 30,377 1.811 20
% @B 131 72| 1220] 44,775 2.926 1
HKIEHD N 65 -4 58| 51,328 1.266 33
TNEEIL 105 36| 522 47275 2.221 6
L 70 16| 29.6] 30,120 2.324 4
BRWEBA % H 18 11| -379| 14,920 1.206 35
I 22 6| 375 17,192 1.280 31
B wEBE B 36 8| -182] 37,831 0.952 42
AKX F m 20 7| 538 14314 1.397 28
£ A # 28 o 474 13,884 2.017 11
OB OB R A 74 1 14| 50,104 1.477 25
S 6 2| -250 7,545 0.795 44
% W B[/ F o/ A 32 2 6.7 20,333 1.574 24
P - 13| -16| -55.2 7,750 1.677 23
15 BT 51 3 6.3 23,782 2.144 9
‘LHREHF B A 16 5] 455 14,970 1.069 39
Z Dt (ST - B %) 30 4| -118

X1 AQITDOWTE, TWEsEHEHEHRA

X2 JRFEE(E. AO1,000 A &-YDRMEHRTHY. IBELIET—AMERLIZHE>TLVET,

ry D= ZRBR O A DO EHE (D) LIEHRALTOET,



2 TETHRIERM G- NREIRYYE] (EEE)

® Y 0 o= BE B 2 & I —F Ao & 5 & 2 %
BRGE| BB MU AOREOK L | DRERIE | SACE| M ER ML |, ) pRsEe [SMeE| B FR ML | L Ry (SM6E| A E R M L L mRERE
3 B ok | s | wEEw Rl B # (4TBTH) | 3 B k| #EE | EEE) (4TBTH ) | 3 B k| #Es | EE) (4aTBTHS) | 3 B k| SRS | BEE) (44ThATH )
x W OB OB OB 657 108 19.7| 2,823,457 136 12 9.7 | 0.048 43 16 59.3 | 0.015 478 80 20.1 | 0.169
K P il 73 24 49.0 268,036 4 -1 -20.0 [ 0.015 3 1 50.0 | 0.011 66 24 57.1| 0.246
B i it 18 1 5.9 165,822 2 2 -1 0.012 1 1 -| 0.006 15 -2 -11.8 | 0.090 27
* H il 64 20 455 142,181 11 9 450.0 | 0.077 11 6 5 500.0 | 0.042 5 47 6 14.6 | 0.331 2
=) A7 it 27 -14 -34.1 137,512 . 7 -7 -50.0 [ 0.051 19 -4 -100.0 20 -3 -13.0 | 0.145 11
a &l il 25 15 150.0 70,124| 0.357 4 2 -2 -50.0 | 0.029 26 8 7 700.0 | 0.114 2 15 10 200.0 | 0.214 7
5 W it 8 -9 -52.9 49,252 0.162 25 5 -1 -16.7 | 0.102 7 - 3 -8 -72.7 | 0.061 31
B 7 B W 16 -4 -20.0 75,212 0.213 13 3 -2 -40.0 [ 0.040 24 1 1 -1 0.013 14 12 -3 -20.0 | 0.160 9
T E3 it 7 5 250.0 41,621 0.168 24 2 0.048 23 - 5 5 -| 0.120 19
& “w il 19 3 18.8 59,329| 0.320 5 3 -7 -70.0 | 0.051 20 1 1 -1 0.017 12 15 9 150.0 [ 0.253 3
EEAXEBM 3 3 = 45,550( 0.066 42 - - 3 3 -| 0.066 29
=) #* il 3 26,057 0.115 34 - - 3 0.115 22
It % # ™ 5] -3 -37.5 39,748 0.126 32 -3 -100.0 - 5 0.126 18
% ] il 7 71,298| 0.098 39 2 -1 -33.3 | 0.028 27 - 5 1 25.0 | 0.070 28
)id F h 20 2 111 103,717 0.193 18 5 2 66.7 | 0.048 22 1 -1 -50.0 { 0.010 18 14 1 7.7 0.135 13
L A il 15 -2 -11.8 83,826 0.179 22 3 1 50.0 | 0.036 25 - 12 -3 -20.0 [ 0.143 12
- # 2 < E W 128 35 37.6 256,526 0.499 1 19 8 72.7 | 0.074 13 3 -3 -50.0 [ 0.012 15 106 30 39.5| 0.413 1
V=57 h 41 13 46.4 154,097 0.266 9 4 3 300.0 | 0.026 30 1 1 -| 0.006 19 36 9 33.3 | 0.234 5
;=3 15 h 11 1 10.0 65,261 0.169 23 5 4 400.0 | 0.077 12 - 6 -3 -33.3 [ 0.092 26
i ES il 5| 2 66.7 26,453| 0.189 20 5 3 150.0 [ 0.189 2 - -1| -100.0
=F = h 22 -4 -15.4 69,796 0.315 6 5 1 25.0 [ 0.072 14 1 1 -| 0.014 13 16 -6 -27.3( 0.229 6
EEXEH 4 37,194| 0.108 36 -1| -100.0 - 4 1 33.3 | 0.108 24
E o) H 4 -2 -33.3 52,518| 0.076 41 1 -1 -50.0 [ 0.019 34 - 3 -1 -25.0 [ 0.057 33
b i) it] 21 -7 -25.0 98,031 0.214 12 9 4 80.0 [ 0.092 9 1 -3 -75.0 | 0.010 17 11 -8 -42.1 | 0.112 23
IR B H 4 -3 -42.9 51,006 0.078 40 1 -5 -83.3 [ 0.020 32 1 1 -1 0.020 10 2 1 100.0 [ 0.039 36
L] L4 it] 2 36,768| 0.054 43 1 -1 -50.0 | 0.027 29 - 1 1 -1 0.027 37
N HMI5TH 6 2 50.0 39,147| 0.153 27 -1 -100.0 2 1 100.0 [ 0.051 4 4 2 100.0 [ 0.102 25
& Nl it] 7 3 75.0 36,638 0.191 19 1 0.027 28 - 6 3 100.0 | 0.164 8
Ei i il 21 12 133.3 94,237 0.223 11 8 8 -1 0.085 10 2 1 100.0 [ 0.021 8 11 3 375 0.117 21
1T Vil it] 2 200.0 30,377| 0.099 37 3 2 200.0 | 0.099 8 - -
3 H H 9 4 80.0 44,775 0.201 15 7 3 75.0 | 0.156 3 - 2 1 100.0 [ 0.045 35
HKIEHS T 10 -1 9.1 51,328| 0.195 17 1 -6 -85.7 | 0.019 33 1 -2 -66.7 | 0.019 11 8 7 700.0 | 0.156 10
hE E W 7 2 40.0 47,275 0.148 28 3 1 50.0 [ 0.063 17 1 1 -1 0.021 9 3 0.063 30
* 72 HT 4 1 333 30,120 0.133 30 2 0.066 16 2 2 -| 0.066 3 -1| -100.0
B R W OEX P BT 3 -1 -25.0 14,920| 0.201 14 1 -1 -50.0 [ 0.067 15 - 2 0.134 14
72 j:] HT 2 2 - 17,192| 0.116 33 1 1 -| 0.058 18 - 1 1 -] 0.058 32
A o) S i3 # 6 -3 -33.3 37,831 0.159 26 - 1 1 -1 0.026 7 5 -4 -44.4 | 0.132 15
A # EB(K F HT -1 -100.0 14,314 - - -1 -100.0
ES b | #t 4 4 - 13,884| 0.288 7 - 4 4 -1 0.288 1 -
L] L4 AR | By L HT 9 -2 -18.2 50,104| 0.180 21 1 -4 -80.0 | 0.020 31 2 0.040 6 6 2 50.0 | 0.120 20
Al 2} BT 1 7,545 0.133 31 1 0.133 5 - -
E] M\ F 4 HT 2 1 100.0 20,333| 0.098 38 1 0.049 21 - 1 1 -1 0.049 34
- g = En ] iy 3 2 200.0 7,750 0.387 3 2 2 -1 0.258 1 - 1 0.129 16
b1 HT 6 4 200.0 23,782 0.252 10 3 1 50.0 | 0.126 6 - 3 3 -1 0.126 17
it 8 5 R iR iy 2 1 100.0 14,970| 0.134 29 2 1 100.0 [ 0.134 4 - -

X1 AQDWTIE, TWNESEHEHER R YT —I (R

BOAQEHTF R NEEALTVET,

%2 JLFEEFE, AO1,000A LY ORHEEHTHY | JBLLIET—RMBRIITESTWET,




3 WETHFRIRMGE - NRR(EERAGE](HEE)

EERAG R = = B 2 2 & B = =
BRGE| A P MM M H RO e | RRERIE | SACE| M ER ML | | pEsEe [SMeE| M ER ML | | pREEy (SeE| A E R ML | mRRE
38 K |sEs | wEEWRe1T B & AR | 3 B o | e | @) IR | 3 B ok | e | @EmE) BRI | 3 B ok | s | EmEe) (ATrH )
x W OB # 265 -24 -8.3 1,227,512 206 -4 -1.9 L 58] -21 -28.4 0.043 6 1 20.0
K P il 29 12 70.6 126,055 23 12 109.1 0.182 19 4 -2 -33.3 0.032 2 2 -1 0.016 5
B i i 9 -3 -25.0 76,702 8 2 33.3 0.104 29 1 -5 -83.3 0.013 -
* H il 13 -4 -23.5 66,629 10 2 25.0 0.150 25 3 -6 -66.7 0.045 14 -
=) A7 i 16 4 333 58,276 -1 -10.0 0.154 23 6 4 200.0 0.103 6 1 1 - 0.017 4
a &l il 8 5 166.7 28,892 6 600.0 0.242 12 1 -1 -50.0 0.035 15 -
i W i 14 11 366.7 19,889 11 10 [ 1000.0 0.553 2 3 1 50.0 0.151 3 -
B 7 B W 6 1 20.0 33,421 5 1 25.0 0.150 26 1 0.030 18 -
T = il -5 -100.0 17,294 -5 -100.0 - -
& “w il 9 3 50.0 23,515 0.383 4 4 200.0 0.255 9 2 -2 -50.0 0.085 9 1 1 -1 0.043 2
HEEAXEBM 3 18,860 0.159 28 -1 -33.3 0.106 28 1 1 -| 0.053 12 -
B X | 1 11,427| 0.088 31 0.088 31 - -
I % ® ™ -3 -100.0 17,086 -2 -100.0 - -1 -100.0
% ] h 2 -10 -83.3 29,834| 0.067 33 2 -8 -80.0 0.067 33 -1| -100.0 -1| -100.0
HY F h 3 -16 -84.2 47,545| 0.063 35 3 -13 -81.3 0.063 35 -2 -100.0 -1 -100.0
L A h 12 7 140.0 36,380 0.330 10 4 133.3 0.192 18 5 3 150.0 0.137 4 -
- # 2 <K E W 24 11 84.6 121,001 0.198 24 22 9 69.2 0.182 20 2 2 - 0.017 19 -
Vf=big 6 -16 -72.7 68,612| 0.087 32 6 -6 -50.0 0.087 32 -10 | -100.0 -
B -] h 10 4 66.7 28,768| 0.348 7 7 2 40.0 0.243 11 3 2 200.0 0.104 5 -
i ES il - 10,886 - - -
<P = h 1 -16 -94.1 29,033 0.034 36 -16 -100.0 1 0.034 16 -
HEEXE® 1 -2 -66.7 15,578| 0.064 34 1 -2 -66.7 0.064 34 - -
£ o) il -5 -100.0 21,457 -5 -100.0 - -
b i) i 05 1 7.1 39,075 0.384 3 7 -4 -36.4 0.179 21 8 5 166.7 0.205 2 -
IR " il 7 2 40.0 19,384| 0.361 6 6 1 20.0 0.310 6 1 1 -1 0.052 13 -
L] [ il 3 -9 -75.0 14,730| 0.204 23 2 -9 -81.8 0.136 27 1 0.068 11 -
NTHMI5TH 16 11 220.0 16,088| 0.995 1 12 9 300.0 0.746 1 4 2 100.0 0.249 1 -
& i i 3 13,521| 0.222 21 3 2 200.0 0.222 14 -2 | -100.0 -
i i il 13 3 30.0 42,106 0.309 11 9 6 200.0 0.214 16 3 -4 -57.1 0.071 10 1 1 -1 0.024 3
1T Vil i 3 -1 -25.0 11,260| 0.266 16 2 -2 -50.0 0.178 22 1 1 -1 0.089 8 -
3 H H 7 5 250.0 19,210| 0.364 5 7 6 600.0 0.364 3 -1 -100.0 -
HKIEHS T 5| 4 400.0 21,383| 0.234 19 5 4 400.0 0.234 13 - -
IhE E W 5| -4 -44.4 18,850| 0.265 17 4 -3 -42.9 0.212 17 -2 -100.0 1 1 -1 0.053 1
x 72 HT| 4 1 333 11,981 0.334 9 4 2 100.0 0.334 5 -1 -100.0 -
L3 %:{PN % BT -2 -100.0 6,704 -1 -100.0 -1 -100.0 -
72 j:] HT| 2 -1 -33.3 6,967 0.287 12 2 0.287 7 -1 -100.0 -
1 i3 # 4 -2 -33.3 16,064| 0.249 18 4 -1 -20.0 0.249 10 -1 -100.0 -
A EBEX FOH - 6,146 - - -
E] H # 2 1 100.0 5,888 0.340 8 1 100.0 0.340 4 - -
a2 OB ER|p L HT| 4 -1 -20.0 21,881| 0.183 26 -2 -50.0 0.091 30 2 1 100.0 0.091 7 -
A 2] BT -1 -100.0 2,863 - - -1| -100.0
# W OB\ F oK/ HT 2 -1 -33.3 7,476 0.268 15 2 0.268 8 -1| -100.0 -
_— gﬁi ] BT -2| -100.0 3,054 -2 | -100.0 - -
b} BT 2 -5 -71.4 9,138 0.219 22 -4 -66.7 0.219 15 - -1| -100.0
d 48 5 &R|# iR BT 1 -1 -50.0 6,603 0.151 29 0.151 24 -1| -100.0 -

X1 HERITOVTE, TNESEHEHERR VT —IRBBOA QL R IEERALTOET,
%2 JLFRE(E, 1,000 FHYDLREFHKERTHY. IBLLITT—XMERIE>TNET,




